oW Wie viel ist es insgesamt?
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Ay Addieren

Aufgabe 1 Aufgabe 2

1. 200+10+9 = 1. 700+90+ 4 o
2. 300+30+1 = 2. 100+ 60 + 7 o
3. 100+20+1 = 3. 100+40+38 =
4. 500+50+7 = 4. 800+40+5 =
5 800+10+6 i 5. 200+50+6 =
6. 700+70+9 = 6. 800+30+9 o
7. 800+40+3 = 7. 500+ 10+ 38 o
8. 600+10+7 = 8. 700+60+2 =
9. 300+40+4 i 9. 400+20+9 =
10. 500+70+9 = 10. 100+30+3 o
Aufgabe 3 Aufgabe 4

1. 800+50+1 = 1. 400+20+7 o
2. 500+40+3 = 2. 800+70+3 =
3. 400+30+9 = 3. 100+ 60+ 1 =
4. 100+80+7 = 4. 200+10+8 =
5 200+90+ 4 = 5 700+80+6 o
6. 200+30+7 = 6. 600+30+4 o
7. 900+80+2 = 7. 800+10+3 =
8. 800+60+6 i 8. 900+30+2 i
9. 600+10+ 4 = 9. 600+70+8 o
10. 200+10+3 = 10. 200+90+9 o
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Addieren

Aufgabe 1 Aufgabe 2
1. 200+10+9 = 219 1. 700+90+ 4 = 794
2. 300+30+1 = 331 2. 100+ 60+ 7 = 167
3. 100+20+1 = 121 3. 100+40+8 = 148
4. 500+50+7 = 557 4. 800+40+5 = 845
5 800+10+6 = 816 5 200+50+6 = 256
6. F00+70+9 = 779 6. 800+30+9 = 839
7. 800+40+3 = 843 7. 500+10+8 = 518
8. 600+10+7 = 617 8. 700+ 60+2 = 762
9. 300+ 40+ 4 = 344 9. 400+20+9 = 429
10. 500+ 70+9 = 579 10. 100+30+3 = 133
Aufgabe 3 Aufgabe 4
1. 800+50+1 = 851 1. 400+20+7 = 427
2. 500+40+3 = 543 2. 800+70+3 = 873
3. 400+30+9 = 439 3. 100+ 60 + 1 = 161
4. 100+80+7 = 187 4. 200+10+8 = 218
5. 200+90+ 4 = 294 5 700+80+6 = 786
6. 200+30+7 = 237 6. 600+30+4 = 634
7. 900+80+2 = 982 7. 800+10+3 = 813
8. 800+60+6 = 866 8. 900+30+2 = 932
9. 600+10+ 4 = 614 9. 600+70+8 = 678
10. 200+10+3 = 213 10. 200+90+9 = 299
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